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ReER RPM 5000
A in.-Ibs [kg-cm] 111 [128]
RAHIHINE kW [HP] 64 [85,8]
BRAERE bar [PSI] YELE: 138 [2000]  W4E: 172,58 [2500]
RAME Ipm [GPM] 56.7 [15]
FOIF RO [0 2 7o Ibs. [kg] 170 [77]
TYERR T ¥l- HLP (DIN 51524) 8 HM (1SO 6743/4)
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GFA/ewD /D / GGM
HEESE
¥ B GGM3.6 GGM6.1 GGM7.4
HEE in*frev [cm?/rev] 218(357) 372(6.094) 450(7.374)
S KEE RPM 5000 5000 5000

HERSHE

1000 RPM (BREHEIR)

95GPM(36 L/min)

1.61GPM(6.1 L/min)

1.95GPM(7.4 L/min)

RARLEEN 2000PSI(138.0 bar) 2000PSI(138.0 bar) 2000PSI (138.0 bar)
RABSEND 2500PSI(172.5 bar) 2500PSI(172.5 bar) 2500PSI (1725 bar)
H i HHETE 1000 PSI 35in-lbs 59 in-lbs 72 in-lbs.
(69.0 bar) (40 kg-cm) (68 kg-cm) (83 kg-cm)
s8 2.8 1%(1.25 kg) 3.0 7%(1.36 kg) 31 %%5(1.41 kg)
RAREE 170 Ibs(77.0 kg) 130 Ibs(59.0 ko) 110 Ibs.(50.0 kg)

% ®

GGM9.5 GGM11.5
HEE in®frev [cm¥[rev] 580(9.50) 700(11.471)
BRARKIE RPM 5000 5000
BEMEHE

1000 RPM (BREEEIR)

251GPM(95 L/min)

3.03GPM(115 L/min)

RAIFEES 2000PSI (138.0 bar) 1500PSI (1035 bar)
RABEES 2500PSI (1725 bar) 2000PSI (1380 bar)
B 1000 PSI 92 in-lbs. 111 in-lbs
(69.0 bar) (107 kg-cm) (128 kg-cm)
s 3.3 %150 kg) 35 %159 kg)
BRARE** 70 Ibs.(31.7 kg)

30 Ibs.(135 ko)

‘218 _FRIE69bar kxS N HHLE,

» AN RAAFROATE, RIEMAEHBL0(1000/)\ BF, 2500RPM).

BERBHEFHIES2C,

ME EIASE32mm/s, REHEFMELISR REFEFIIELI0UM,

@/ &R K350N,
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